Compare Mass

1. Complete the sentence below.
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The raspberry is than the

tomato. v

4. Millie wants an object that will be
lighter than the carrot. Which item should
she choose and why?

2. Is the can of pop heavier than, equal to
or lighter than the puzzle piece?
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heavier equal lighter
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5. Michael is comparing the toys.

He says,

The teddy is heavier
than the robot.
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Is he correct? Explain why. R

3. The balance scale is level. Circle the
word that describes the weight of the
buttons.

6. Pick 2 items to place on the scales.
Object 1 must be heavier than object 2.
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| Find 2 possible answers. .
Classroom classroomsecrets.co.uk
secrefs

© Classroom Secrets Limited 2021

Compare Mass — Prior Learning




Compare Mass

1. The raspberry is lighter than the tomato.
2. heavier

3. equal
4. The marble will be the only item lighter than the carrot. A book and a vase of flowers

are heavier than a carrot.
5. Michael is incorrect. The balance scale is up on the teddy side, so the teddy is lighter

than the robot.
6. Various answers, for example: 1. a box of cupcakes and 2. a cupcake; 1. a carton of

juice and 2. a balloon; 1. a carton of juice and 2. a biscuit; 1. a cupcake and 2. a
balloon.

Classroom classroomsecrets.co.uk
\iecrets» Compare Mass — Prior Learning ANSWERS

© Classroom Secrets Limited 2021



